Intersection: San Antonio Rd at El1 Camino Real, Mountain View, California

MapData payload size 1279
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gov.usdot.asnl.generated.j2735.dsrc.MessageFrame
value MessageFrame ::= {
messageld 18,
value MapData : {
msgIlssueRevision 11,
layerType intersectionData,
intersections {
{
id {
region O,
id 1019
by
revision O,
refPoint {
lat 374012538,
long -1221136094,
elevation 220
}y
laneWidth 330,
speedLimits {
{
type vehicleMaxSpeed,

speed 782
}
b
laneSet {
{
laneID 1,

ingressApproach 1,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
}l



maneuvers {maneuverRightAllowed, maneuverRightTurnOnRedAllowed},
nodeList nodes : {
{
delta node-XY4 : {
X 61,
y 2967
}
b
{
delta node-XY6 : {
x 4032,
y 8340
}
b
{
delta node-XY3 : {
x 960,
y 1725
}
b
{
delta node-XY6 : {
X 3813,
y 7888
}
}
b
connectsTo {
{
connectinglLane {
lane 31,
maneuver {maneuverRightAllowed}
by
signalGroup 4
}
}
I
{
laneID 2,
ingressApproach 1,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x 476,
y 2684
b
attributes {
dwidth 30
}
b
{
delta node-XY6 : {
X 3852,
y 8029
}
b

{
delta node-XY6 : {

x 4800,
y 9959



}
by
connectsTo {
{
connectinglLane {
lane 23,
maneuver {maneuverStraightAllowed}
by
signalGroup 4
}
}
b
{

laneID 3,
ingressApproach 1,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x 767,
y 2539
}
by
{
delta node-XY6 : {
x 4120,
y 8623
}
b
{
delta node-XY5 : {
x 1893,
y 3859
}
by
{
delta node-XY5 : {
X 2626,
y 5427
}
}
b
connectsTo {
{
connectingLane {
lane 24,
maneuver {maneuverStraightAllowed}
b
signalGroup 4
b
{
connectinglLane {
lane 4,
maneuver {maneuverStraightAllowed}

}
}
by
{

lanelID 4,



ingressApproach 1,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverLeftAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x 1036,
y 2401
by
attributes {
dWidth =30
}
by
{
delta node-XY6 : {
x 4212,
y 8765
}
b

{
delta node-XY4 : {

x 1472,
y 3026
}
by
{
delta node-XY2 : {
x 60,
y 829

}
b
connectsTo {
{
connectingLane {
lane 16,
maneuver {maneuverLeftAllowed}
b
signalGroup 7
b
{
connectinglLane {
lane 5,
maneuver {maneuverStraightAllowed}

lanelID 5,
ingressApproach 1,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverLeftAllowed, maneuverUTurnAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x 1305,
y 2243



}
b
{
delta node-XY6 : {
x 4118,
y 8601
}
b
{
delta node-XY4 : {
x 897,
y 1857
}
b
{
delta node-XY3 : {
x 400,
y 1491
}
}
b
connectsTo {
{
connectingLane {
lane 17,
maneuver {maneuverLeftAllowed}
b
signalGroup 7
by
{
connectingLane {
lane 8,
maneuver {maneuverUTurnAllowed}
b
signalGroup 7

laneID o,
egressApproach 2,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed, maneuverRightAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x 2157,
y 1539
by
attributes {
dWwidth 30
}
by
{
delta node-XY6 : {
x 5120,
y 10634
}
b
{
delta node-XY5 : {
X 3452,



laneID 7,
egressApproach 2,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x 1906,
y 1688
}
by
{
delta node-XY6 : {
x 5126,
y 10755
}
b
{
delta node-XY5 : {
X 3404,
y 7000

lanelID 8,
egressApproach 2,
laneAttributes {
directionalUse {egressPath},
sharedwWwith {},
laneType vehicle : {}
by
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x 1644,
y 1856
}
bo
{
delta node-XY6 : {
x 5206,
y 10960
}
bo
{
delta node-XY5 : {
x 3347,
y 6847
}
}
b
connectsTo {

{



connectinglLane {
lane 9,

maneuver {maneuverStraightAllowed}

laneID 9,

egressApproach 2,

laneAttributes {
directionalUse {egressPath},
sharedwWwith {},
laneType vehicle : {}

by

maneuvers {maneuverLeftAllowed, maneuverUTurnAllowed},

nodeList nodes : {
{
delta node-XY6 : {
x 6850,
y 12816
}
b
{
delta node-XY3 : {
x 247,
y 1130
}
by
{
delta node-XY4 : {
x 1208,
y 2538
}
b
{
delta node-XY4 : {
x 1663,
y 3431

laneID 10,
ingressApproach 3,
laneAttributes {
directionalUse {ingressPath},
sharedwWwith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed,
maneuverRightTurnOnRedAllowed},
nodeList nodes : {
{
delta node-XY4 : {
x 2550,
y 21
}
b
{
delta node-XY6 : {
X 6919,
y —-4640
}
b

maneuverRightAllowed,



delta node-XY5 : {
X 5848,
y —-3950
}
bo
{
delta node-XY4 : {
x 2385,
y -1623
}
}
bo
connectsTo {
{
connectinglLane {
lane 6,
maneuver {maneuverRightAllowed}
by
signalGroup 6
bo
{
connectingLane {
lane 31,
maneuver {maneuverStraightAllowed}
by
signalGroup 6

laneID 11,
ingressApproach 3,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x 2400,
y —-334
}
b
{
delta node-XY6 : {
X 6833,
y —4547
}
b
{
delta node-XY5 : {
x 5886,
y —-3963
}
b
{
delta node-XY4 : {
X 2472,
y —-1687
}
}
b

connectsTo {



connectinglLane {

lane 32,

maneuver {maneuverStraightAllowed}
}I
signalGroup 6

laneID 12,
ingressApproach 3,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodeList nodes : {
{
delta node-XY4 : {
X 2168,
y —-552
}
by
{
delta node-XY6 : {
x 7003,
y —-4715
}
b
{
delta node-XY5 : {
x 59009,
y —=3972
}
by
{
delta node-XY3 : {
x 1194,
y —-859
}
b
{
delta node-XY3 : {
x 1042,
y —-728

}
b
connectsTo {
{
connectinglLane {
lane 33,
maneuver {maneuverStraightAllowed}
b
signalGroup 6
b
{
connectinglLane {
lane 13,
maneuver {maneuverStraightAllowed}

}

by



laneID 13,
ingressApproach 3,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverLeftAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x 1974,
y -804
b
attributes {
dwidth -30
}
b

{
delta node-XY6 : {

x 7196,
y —4818
}
by
{
delta node-XY5 : {
X 6251,
y —4327
}
b

{
delta node-XY2 : {

x 853,
y —149

}
b
connectsTo {
{
connectinglLane {
lane 23,
maneuver {maneuverLeftAllowed}
b
signalGroup 1
b
{

connectinglLane {
lane 14,
maneuver {maneuverStraightAllowed}

laneID 14,
ingressApproach 3,
laneAttributes {

directionalUse {ingressPath},

sharedWith {},

laneType vehicle : {}
b
maneuvers {maneuverLeftAllowed, maneuverUTurnAllowed},
nodelList nodes : {

{

delta node-XY4 : {



x 1881,
y -1092
}
}’

{
delta node-XY6 : {

x 7157,
y —-4825
}
}’

{
delta node-XY5 : {

x 5189,
y —-3533
}
b
{
delta node-XY3 : {
x 1194,
y —-499
}
}
b
connectsTo {
{
connectinglLane {
lane 24,
maneuver {maneuverLeftAllowed}
by
signalGroup 1
b
{
connectinglLane {
lane 17,
maneuver {maneuverUTurnAllowed}
b
signalGroup 1

}

laneID 15,
egressApproach 4,
laneAttributes {
directionalUse {egressPath},
sharedWwith {},
laneType vehicle : {}
br
maneuvers {maneuverStraightAllowed},
nodeList nodes : {
{
delta node-XY4 : {
x 1187,
y —-2211
}y
attributes {
dwidth 30
}
}y
{
delta node-XY5 : {

x 5902,
y -3872



delta node-XY6 : {
X 6888,
y —4611
}
by
{
delta node-XY4 : {
x 2586,
y —=1747
}
}
b
connectsTo {
{
connectingLane {
lane 20,
maneuver {maneuverStraightAllowed}
b
remoteIntersection {
region O,
id 1020

lanelID 16,
egressApproach 4,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY4 : {
X 1342,
y —-1830
}
by
{
delta node-XY5 : {
x 6028,
y —-4011
}
b
{
delta node-XY5 : {
X 6789,
y —4582
}
by
{
delta node-XY4 : {
X 2639,
y -1786
}
}
b
connectsTo {
{
connectingLane {
lane 21,
maneuver {maneuverStraightAllowed}

by



remoteIntersection {
region O,
id 1020

laneID 17,
egressApproach 4,
laneAttributes {
directionalUse {egressPath},
sharedwWwith {},
laneType vehicle
by
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x 1490,
y —-1512

{}

}
b
{
delta node-XY5 : {
x 6107,
y —-4067
}
by
{
delta node-XY6 : {
x 6793,
y —4613
}
b
{
delta node-XY4 : {
x 2602,
y —-1681

}
bo
connectsTo {
{
connectinglLane {
lane 22,

maneuver {maneuverStraightAllowed}

b
remoteIntersection {
region O,
id 1020

laneID 18,
ingressApproach 5,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle
b
maneuvers {maneuverStraightAllowed,
maneuverRightTurnOnRedAllowed},
nodelList nodes : {

{}

maneuverRightAllowed,



delta node-XY4 : {
X -619,
y —2620
}
b
{
delta node-XY4 : {
x -1111,
y —-1782
}
b
{
delta node-XY3 : {
x -1039,
y -1713
}
b
{
delta node-XY5 : {
x —-2363,
y —-4903
}
b
{
delta node-XY3 : {
X =292,
y —-1311
}
b
{
delta node-XY3 : {
x =50,
y —-1132
}
b
{
delta node-XY6 : {
X 52,
y —-14594
}
}
b
connectsTo {
{
connectinglLane {
lane 15,
maneuver {maneuverRightAllowed}
by
signalGroup 8
b
{
connectinglLane {
lane 6,
maneuver {maneuverStraightAllowed}
b
signalGroup 8
}
}
b
{
laneID 19,
ingressApproach 5,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},



laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x -918,
y —-2502
by
attributes {
dWidth =30
}
by
{
delta node-XY3 : {
x —-1058,
y —1684
}
b
{
delta node-XY4 : {
x -1210,
y —2150
}
by
{
delta node-XY5 : {
x -2216,
y —-4549
}
b
{
delta node-XY3 : {
x -313,
y —-1300
}
by
{
delta node-XY3 : {
x -85,
y =1222
}
b
{
delta node-XY6 : {
x 15,
y —-9302
}
by
{
delta node-XY5 : {
x 21,
y —-5333
}
}
b
connectsTo {
{
connectingLane {
lane 7,
maneuver {maneuverStraightAllowed}
b
signalGroup 8
b
{

connectinglLane {



lane 20,
maneuver {maneuverStraightAllowed}
}
b
{
connectinglLane {
lane 22,
maneuver {maneuverStraightAllowed}

laneID 20,
ingressApproach 5,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
br
maneuvers {maneuverLeftAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x -1240,
y —-2356
}
br
{
delta node-XY3 : {
x -1064,
y —-1718
}
by
{
delta node-XY3 : {
x —-894,
y —-1480
}
br
{
delta node-XY3 : {
X -768,
y -1609
}
by
{
delta node-XY5 : {
x -1762,
y —-3730
}
br
{
delta node-XY3 : {
x 19,
y —-1292
}
}
by
connectsTo {
{
connectinglLane {
lane 32,
maneuver {maneuverLeftAllowed}
bo
signalGroup 3



by
{
connectingLane {
lane 21,
maneuver {maneuverStraightAllowed}

laneID 21,
ingressApproach 5,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverLeftAllowed, maneuverUTurnAllowed},
nodeList nodes : {
{
delta node-XY4 : {
X -1468,
y —2180
}
by
{
delta node-XY3 : {
x -1047,
y —-1682
}
b
{
delta node-XY3 : {
x =589,
y —-1020
}
by
{
delta node-XY2 : {
x =100,
y —672

}
b
connectsTo {
{
connectingLane {
lane 33,
maneuver {maneuverLeftAllowed}
b
signalGroup 3
b
{
connectinglLane {
lane 24,
maneuver {maneuverUTurnAllowed}
by
signalGroup 3

}
by
{

laneID 22,
ingressApproach 5,
laneAttributes {

directionalUse {ingressPath},



sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverUTurnAllowed},
nodeList nodes : {
{
delta node-XY6 : {
X -6171,
y -13374
}
b
{
delta node-XY6 : {
x 45,
y —8632
}
by
{
delta node-XY2 : {

X 341,
y =703
}
}
b
connectsTo {
{
connectingLane {
lane 24,
maneuver {maneuverUTurnAllowed}

}
I
{
laneID 23,
egressApproach 6,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed, maneuverRightAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x —-2211,
y —-1525
b
attributes {
dwidth 30
}
b

{
delta node-XY4 : {

x -1060,
y —2058
}
b
{
delta node-XY4 : {
x -1026,
y —2406
}
b

{
delta node-XY5 : {



X -2212,
y —-4681
}
b
{
delta node-XY3 : {
x =377,
y -1715
}
bo
{
delta node-XY3 : {
x =56,
y -1086
}
b
{
delta node-XY6 : {
x 10,
y -16699

lanelID 24,
egressApproach 6,
laneAttributes {
directionalUse {egressPath},
sharedwWwith {},
laneType vehicle : {}
br
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x -1802,
y —-1827
by
attributes {
dwidth -30
}
bo
{
delta node-XY4 : {
x -1072,
y —-1764
}
bo
{
delta node-XY4 : {
x -1100,
y —-2523
}
bo
{
delta node-XY5 : {
x —-2208,
y —4760
}
bo
{
delta node-XY3 : {
x —345,
y —-1439
}



}l
{
delta node-XY3
x -85,
y -1135
}
bo
{
delta node-XY6
x 1,
y —11448
}
}l
{
delta node-XY5
x -14,
y —-5293
}
}
}l
connectsTo {

{

connectingLane {

lane 25,

{

{

{

maneuver {maneuverStraightAllowed}

}
}
by
{

laneID 25,
egressApproach 6,
laneAttributes {

directionalUse {egressPath},

sharedWith {},
laneType vehicle
by

{}

maneuvers {maneuverLeftAllowed},

nodeList nodes : {
{
delta node-XY6
X —-6611,
y —-24896
}
by
{
delta node-XY2
x 369,
y —884
}
b
{
delta node-XY4

x -35,
y —-3114
}
}
}
by
{
laneID 26,

ingressApproach 7,
laneAttributes {

{

directionalUse {ingressPath},

sharedWith {},

laneType vehicle

{}



b
maneuvers {maneuverStraightAllowed, maneuverRightAllowed,
maneuverRightTurnOnRedAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x -259¢0,
y 371
by
attributes {
dWwidth 30
}
by
{
delta node-XY5 : {
x =-5753,
y 3762
}
b
{
delta node-XY4 : {
X -2641,
y 1867
}
by
{
delta node-XY4 : {
x —-3214,
y 2348
}
b
{
delta node-XY4 : {
X —-2954,
y 2532
}
by
{
delta node-XY4 : {
x -2861,
y 2789
}
}
b
connectsTo {
{
connectingLane {
lane 23,
maneuver {maneuverRightAllowed}
b
signalGroup 2
b
{
connectinglLane {
lane 15,
maneuver {maneuverStraightAllowed}
by
signalGroup 2
}
}
I
{

laneID 27,
ingressApproach 7,
laneAttributes {

directionalUse {ingressPath},



sharedwWwith {},
laneType vehicle : {}
by
maneuvers {maneuverStraightAllowed},
nodeList nodes : {
{
delta node-XY4 : {
x —-2438,
y 637
}
bo
{
delta node-XY5 : {
x =-5799,
y 3931
}
bo
{
delta node-XY4 : {
x =-2595,
y 1766
}
bo
{
delta node-XY4 : {
X -3197,
y 2323
}
bo
{
delta node-XY4 : {
x =-2845,
y 2452
}
bo
{
delta node-XY4 : {
x -2879,
y 2839

}
bo
connectsTo {
{
connectinglLane {
lane 16,
maneuver {maneuverStraightAllowed}
b
signalGroup 2
}
}
b
{
laneID 28,
ingressApproach 7,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodeList nodes : {
{
delta node-XY4 : {
x -2277,
y 936



}
b
{
delta node-XY5 : {
x —-5548,
y 3713
}
b
{
delta node-XY4 : {
X -2782,
y 1910
}
b
{
delta node-XY5 : {
x —-3339,
y 2486
}
b
{
delta node-XY4 : {
X -2612,
y 2247
}
b
{
delta node-XY5 : {
x -2938,
y 2856
}
}
b
connectsTo {
{
connectinglLane {
lane 17,
maneuver {maneuverStraightAllowed}
b
signalGroup 2
by
{
connectingLane {
lane 29,
maneuver {maneuverStraightAllowed}

laneID 29,
ingressApproach 7,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverLeftAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x -2066,
y 1181
b
attributes {
dWwidth =30



}
b
{
delta node-XY5 : {
x -5641,
y 3783
}
b
{
delta node-XY4 : {
x =2775,
y 1912
}
b
{
delta node-XY4 : {
x -2302,
y 1636
}
b
{
delta node-XY4 : {
x -3083,
y 2536
}
b
{
delta node-XY2 : {
X -691,
y 244
}
}
b
connectsTo {
{
connectingLane {
lane 7,
maneuver {maneuverLeftAllowed}
b
signalGroup 5
by
{
connectingLane {
lane 30,
maneuver {maneuverStraightAllowed}

laneID 30,
ingressApproach 7,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverLeftAllowed, maneuverUTurnAllowed},
nodelList nodes : {
{
delta node-XY4 : {
X -1938,
y 1427



delta node-XY5 : {
X -5689,
y 3885
}
by
{
delta node-XY4 : {
x -2762,
y 1831
}
b
{
delta node-XY4 : {
X -2237,
y 1657
}
by
{
delta node-XY4 : {
x —=1995,
y 1556
}
b
{
delta node-XY3 : {
X -1240,
y 692

}
b
connectsTo {
{
connectinglLane {
lane 8,
maneuver {maneuverLeftAllowed}
b
signalGroup 5
b
{

connectinglLane {
lane 33,
maneuver {maneuverUTurnAllowed}

by
signalGroup 5

laneID 31,
egressApproach 8,
laneAttributes {
directionalUse {egressPath},
sharedwWwith {},
laneType vehicle : {}
by
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x =-1197,
y 2416
br
attributes {
dwidth 30
}



delta node-XY5 : {
X -6114,
y 4087
}
b
{
delta node-XY4 : {
x —-2675,
y 1823
}
b
{
delta node-XY5 : {
x -3990,
y 2982
}
b
{
delta node-XY4 : {
x -2504,
y 2055
}
b
{
delta node-XY4 : {
X -2673,
y 2737
}
}
b
connectsTo {
{
connectinglLane {
lane 4,
maneuver {maneuverStraightAllowed}
by
remoteIntersection {
region 0,
id 1018

laneID 32,
egressApproach 8,
laneAttributes {
directionalUse {egressPath},
sharedWwith {},
laneType vehicle : {}
br
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x -1411,
y 2181
}
br
{
delta node-XY5 : {
x -6095,
y 4056
}
by



delta node-XY4 : {
X —-2689,
y 1848
}
bo
{
delta node-XY5 : {
x -4081,
y 2972
}
b
{
delta node-XY4 : {
X -2440,
y 1993
}
bo
{
delta node-XY4 : {
X —-2664,
y 2800
}
}
bo
connectsTo {
{
connectinglLane {
lane 5,
maneuver {maneuverStraightAllowed}
by
remoteIntersection {
region 0,
id 1018

laneID 33,
egressApproach 8,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x -1547,
y 1863
}
b
{
delta node-XY5 : {
X -6174,
y 4098
}
b
{
delta node-XY4 : {
X —-2645,
y 1851
}
b



delta node-XY5 : {
x -4024,
y 2886
}
}I

{
delta node-XY4 : {

x =-2373,
y 1916
}
b
{
delta node-XY5 : {
x -2855,
y 2974
}
}
b
connectsTo {
{
connectinglLane {
lane o,
maneuver {maneuverStraightAllowed}
by
remoteIntersection {
region 0,
id 1018

laneID 34,
laneAttributes {
directionalUse {ingressPath, egressPath},
sharedWith {},
laneType crosswalk : {hasPushToWalkButton, audioSupport}
by
nodelList nodes : {
{
delta node-XY4 : {
X —-645,
y 3039
b
attributes {
dwidth -30
}
bo
{
delta node-XY4 : {
x 31860,
y -1939
}
}
b
connectsTo {
{
connectingLane {
lane 35,
maneuver {maneuverRightAllowed}
br
signalGroup 14
b
{

connectinglLane {



lane 37,
maneuver {maneuverLeftAllowed}

by
signalGroup 14

}
b
{
laneID 35,
laneAttributes {
directionalUse {ingressPath, egressPath},
sharedWith {},
laneType crosswalk : {hasPushToWalkButton, audioSupport}
b
nodelList nodes : {
{
delta node-XY4 : {
X 2604,
y 650
}
by
{
delta node-XY4 : {
x -1865,
y —3244

}
b
connectsTo {
{
connectingLane {
lane 34,
maneuver {maneuverLeftAllowed}
b
signalGroup 16
b
{
connectinglLane {
lane 36,
maneuver {maneuverRightAllowed}
by
signalGroup 16

}
by
{

laneID 36,
laneAttributes {
directionalUse {ingressPath, egressPath},
sharedWith {},
laneType crosswalk : {hasPushToWalkButton, audioSupport}
br
nodelList nodes : {
{
delta node-XY4 : {
X 69,
y —=2752
}
bo
{
delta node-XY4 : {
x —-2736,
y 1631

by



connectsTo {
{
connectingLane {
lane 35,
maneuver {maneuverLeftAllowed}
b
signalGroup 10
b
{
connectinglLane {
lane 37,
maneuver {maneuverRightAllowed}
by
signalGroup 10

}
by
{

laneID 37,
laneAttributes {
directionalUse {ingressPath, egressPath},
sharedWith {},
laneType crosswalk : {hasPushToWalkButton, audioSupport}
br
nodeList nodes : {
{
delta node-XY4 : {
x -2814,
y =377
}
bo
{
delta node-XY4 : {
x 1302,
y 1828
}
bo
{
delta node-XY3 : {
x 867,
y 1588

}
br
connectsTo {
{
connectingLane {
lane 34,
maneuver {maneuverRightAllowed}
br
signalGroup 12
br
{
connectinglLane {
lane 36,
maneuver {maneuverLeftAllowed}
b
signalGroup 12

}
by
{

laneID 38,

laneAttributes {
directionalUse {ingressPath, egressPath},
sharedWith {},



laneType crosswalk : {}
br
nodeList nodes : {
{
delta node-XY6 : {
X —-4888,
y —-11386
}
by
{
delta node-XY4 : {
x =-2352,
y 375



